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1350

6275

e) Find the sum of the 40t to the 60t terms of an arithmetic sequence that starts: 3,5,7,9,11 ...

2121

8736

g) Find the sum of the 25t to the 70t terms of an arithmetic sequence that starts : 99,96,93,90, 87 ...

-1863

h) Find the sum of the 44t to the 66™ terms of an arithmetic sequence that starts : 10,13.5,17, 20.5, 24 ...

4577
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a=7,d=4
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The 5t term of an arithmetic sequence is 30. 2

The sum of the first 6 terms of the arithmetic sequence is 135.
Find the 20t term of the sequence.

a=10,d=5 so20thterm=105




